
1. Calcule les côtés marqués. 
 

Dans ABC rectangle en A 

𝑐𝑜𝑠(𝐵̂) =
𝐴𝐵

𝐵𝐶
 

𝑐𝑜𝑠(30) =
𝐴𝐵

5
 

𝐴𝐵 =
5 × 𝑐𝑜𝑠(30)

1
  4,33 𝑐𝑚 

 

Dans ABC rectangle en A 

𝑠𝑖𝑛(𝐵̂) =
𝐴𝐶

𝐵𝐶
 

𝑠𝑖𝑛(30) =
𝐴𝐵

5
 

𝐴𝐶 =
5 × 𝑠𝑖𝑛(30)

1
= 2,5 𝑐𝑚 

 

Dans ABC rectangle en A 

𝑡𝑎𝑛(𝐵̂) =
𝐴𝐶

𝐴𝐵
 

𝑡𝑎𝑛(30) =
5

𝐴𝐵
 

𝐴𝐵 =
5 × 1

𝑡𝑎𝑛(30)
  8,66 𝑐𝑚 

 

Dans ABC rectangle en A 

𝑠𝑖𝑛(𝐵̂) =
𝐴𝐵

𝐵𝐶
 

𝑠𝑖𝑛(30) =
5

𝐵𝐶
 

𝐵𝐶 =
5 × 1

𝑠𝑖𝑛(30)
= 10 𝑐𝑚 

 

Dans ABC rectangle en A 

𝑡𝑎𝑛(𝐵̂) =
𝐴𝐶

𝐴𝐵
 

𝑡𝑎𝑛(30) =
𝐴𝐶

5
 

𝐴𝐶 =
5 × 𝑡𝑎𝑛(30)

1
  2,89 𝑐𝑚 

 

Dans ABC rectangle en A 

𝑐𝑜𝑠(𝐵̂) =
𝐴𝐵

𝐵𝐶
 

𝑐𝑜𝑠(30) =
5

𝐵𝐶
 

𝐵𝐶 =
5 × 1

𝑐𝑜𝑠(30)
  5,77 𝑐𝑚 
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